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1. gl&l ﬁ@ ?\‘@"“QQGQ Qﬁ_(;@l Q| i 1. Why 18 there mu “ligl'ﬂldc
JVNQE ULQI QIRG 2l ? ) tonching situation in clementary
A) CHENINR Q schools ? :
) —.@ o ks - (A) Want of classroom
(B) QNG RN QAR

s =~ l (B) Making teacher more active.

faQIdIn ' (C) Less number of teachers in

» (C) 6ga@N AQAIGEQ @ QW proportion to the number of
classes.

AR YUY,
D) QHR QA *AQI FACS | _
FANYS  AuUQ dQell  6RLe | 2. Which onc of the following is the

(D) Maintaining discipline

2.
o o most important in learner-
JRE6Q NN AR E]EJ- ? centered learning ?
A) /R B) G- (A) Teacher (B) Child
(©) 5619.@& D) A6 (C) Content (D) Environment
3. €eOe ouel Gee JAIQIE dAd 3. Which one is not related to
gael Qe ade Q_EEE' ? | competency-based teaching-
00Q 6R6EYEY 6816 6816 ‘ Jeeming
() QIOFR, SASORY™ S | (A) A lesson is divided into
NRRER 9IS @QIAIN | _ | some smaller units.
B) @96 QEg QAR 6w | (B) Competencies are arranged
QEIQAER] ARIKIRNEIN | serially from simple to
©) geeia @ael ge QTG AAER complex. '
50 | (C) Each competency is based
adrRdie 3~ ~ on previous competency.

» (D) Q99 _?QQIQ gag, B (D) Teaching-learning of all
SAERAAY @ Q6% ' competencies 1s done
QQ'QIQEH\'] | | simultaneously.

OTET/P-1 | | 2 (Continued)
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4, 96QdQ aqal
aAQE ?
(A) Q1999
(B) €FQIae
(C) QoRIQe
» (D) QYegIa

699 geIaa

5. 6QNG 9Q1IFEIQ IR AR G6¢ ?
(A) GRYSIAS
(B) {FIQ€ QAR
+ (C) g9Gae
D) geIdy

6. 696 FNNQIR 484 AIAg! AR

Q6% ?

(A) FFQR A6 IKRQIAR
@A '

.(B) @8lde QA9ea Ga9°ge
acg @kl

(©) d€ain aWEgs Y
@QQl

(D) QS UG QA6 AR
=t

7. @A9ER 6 QIR AIEQ MAY
62QT : -
e (A) ARG QI
(B) 693 Il4
(C) RN IS
D) IZ? 3N
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What type of assessment is the
entrance test ?

(A) Summative
(B) Diagnostic
(C) Formative

(D) Placement

Which one 1s not an assessment
tool ?

(A) Checklist

(B) Rating scale

(®)] Progress card

(D) Homework

The use ﬁf TLM is not associated

with :

(A) Tb make teaching learning
pleasurable.

(B) To cover the course content
in time.

(C) To create motivation for

learning.

(D) To teach concrete concept.

Continuous and comprehensive
assessment mainly aims at —

(A) Holistic development
(B) Scholastic development
(C) Cognitive development

(D) Conative development

(Contihuedj |
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N Q6 Y Qe hic ) llowi is not
8. G0EQ Q0! 668 QT QRAAILE! Which of the following

QNEeQ O] Q6L 7

correct about creativity ?

(A) Creativity is universal.

(A) QERQINEI AISSRIR
open

(B) Creativity 18

(B) QER9INGI goos!/6 gsQIele thinking/& adventurous.

QIdY 26T N o
(C) Creativity and . sociability

(C) QeRaIRel G 6ARIA1 NI | are positively correlated.

AQIQIGLNIES ANRE | D) Creativity
achievement are not

and school

. (D) QeRaIRel B TR AITAIE!

QI0eae SI6e AfGe Qe | correlated.

! 9. Which method of evaluation is

9. Q@9 g0y B AKYIFY ALAI0Y AR
agesl QafIae @aes  6ee
JRUIBE 98T TRIQ AT ?

effective for assessment of

scholastic and other ca-

e

(A) VPR scholastic areas ?
(A) Placement

v (B) Q°Qyd@
‘_ (B) Comprehensive
(C) UWEAINe

(C) Aptitude

(D) waIRIAS . (D) Diagnostic

10. 56919 6996 9@ Fa8q QAR
Q6% ?

10. Which of the following is not a

continuous assessment ?

(A) a@6gél .
(A) Motivation

(B) <46 (B) Learning
(C) @@I4 (C) Development
* (D) ﬁ‘,@ (D) Growth
OTET/P-1 4 (Continued)
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QRIS F196Q 76719 6RAE ady-
6QR6El RIS JVIQ IR el
Q6% ?

A) P A°00e RARI

(B) Q96dlel 62Q1 B PSS
dois QanQy 19N 989!

| V(.C) AIFAER FA6RQYR!

(D) 969a9 @IFI6q af€e aaa|

12. 2206Qd1 d8l 629Y6a @9IQ
QEQ AT 7
(A) Y6QQ/6890 @ g2¢ Q6a @
QURCIQ AVRLR F6Q
(B) [@ee 9@ QAIERe <8,
Q12! 928 @
» (C) QIQ0Q @6 &8 @QQl
g6cyednl aIR AVNIAR
(D) 22¢2el 9@ IR UQA4,

13.

#O

[ ]

9@ QG YR/ 2281

UDL @ full form, (281g] 909 &)
Q@8 ?

(A) for

Universal Demand

Learning

Universal Design for

Leadership

B)

Uniform Design for

Learning

Universal Design for

Learning

D)

OTET/P-1
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12.
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According to Bandura, which of
the following is not a process in

the observational learning ?

(A)
(B)

Organising the behaviour
Attending to and perceiving
the behaviour '
Remembering the behaviour

©

(D) Converting the memory
into action

Inclusive education does not

believe in

(A) Accept difference and
celebrate diversity

(B) Diversity is a  social
responsibility, accept it.

(C) Learning individually is
beneficial for every child.

(D) Handicap 1is a social
construct, deconstruct
handicap.

UDL stands for

(A) Universal Demand for
Learning

(B) Universal Design for
Leadership

(C) Uniform Design for
Learning

(D) Universal Design for
Learning

(Continued)
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of the following

14. 896 gea 6ea BipaesS : 14. :;1:‘:0111'31 examples _ best
QQI2eae adsgasia A6L9E | Alustrates the concept  of
QIS ACTS ? motivation ?

A) aeas, eora e O (A) Paresh has shown steady

cafIeeq Joeide dIRIg | progress in his ability to
ARTe *G9Ia 9901 IS8 relate past and present
I historical trends.

QF QA8 | | . _

= SiEa | (B) Sitanshu has increased his

& meNe .5 ere | practice time on the electric

[ERAER  GeIq  ARAUR guitar from one hour to two-
oIk A9 1 a9Ig 2 ‘&IQI@_' hours per day.

QF RA8d ' (C) Rita has always shown a

(C)-Q161 ASQ1 9096Q ge gL keen interest and capacity
' in the reading.

6 QI gode 9a8s
(D) Manisha long ago

(D) aMal  egeay awe/ developed the habit of
dweRIag WSl dwqdd ' looking wup  unfamiliar

@IdQIa 2Q4I1q Fedie 9A8S words in the dictionary.
15. Q6gIg ¢RIQ 60a QT INEQ 15. Which of the following best
i explains the  meaning of

2dg A6RIgY AT QRIRAN 7 a—

(A) R LR 2 d94 (A) Lealmng 1s a COIlStluCtIOIl

f
(B) GaM A69aYSIa 950l T Fae ol imowledge.
(W (B) Learning is a memorisation
o590 @ Q S (C) Learning is a change due to

B _ K _ maturation.
(D) <98 692g 99°QAIeae

ITIAQ AR
OTET/P-I 6 (Continued)

(D) Learning is a change in

|
|
|
!
|
atgeel Il eLI99 | of facts.
|
|
l
! native tendencies.
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18.

19.

in

. dq1el qies Geelg 986 QY
2Ig 692 geIex  dIoIgag
2TCEARG 629 7

(A) AR AIOIFA
« (B) 2286941 Q10494
(C) 9097 dI04g¢
(D) 6RAA AIOYFE

. 36E)IQ FRIQ 69Q% sAIQT dmel
AIRE QIR 9 JA g Q6L ?

A) QIFe dal
(B) FIIR G0F 9Q IR
(©) qq@ﬁm QI

« (D) QA8 RGO

6Q@ 6QIPIT d94Qa TF QaIQIR
QANGo Q6L ?

(A) ILQE — ACKINAR
(B) 2I2Q& — Q6

(C) 21208 —geald
(D) I — g6l

Geqlg A 6990 J96Q 999

0] Q6 Q4R FIF 7

@A) 96 aEaayGgs QIdy

(B) 384 6208 ALK

(C) dVE 62A8 RACAIRT

(D) J[E 628 9
A60QYR 9Pl

Qe

OTET/P-I
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16.

17.

18.

19.
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To meet the diversity, we should
have
(A) Spiral curriculum
(B)
(€)

D)

Inclusive curriculum
Special curriculum

Core curriculum

Which of the following 1s not an

educational provision for

talented learners ?

(A) Accelerated education
(B) Small Group Instruction
(C) Enrichment Programme

(D) Ability Grouping

Which pair is not related to the

three components of learning ?
(A) Acquisition — selection
(B) Acquisition — retention
(C) Acquisition — application
(D) Retention — application

Which of the following

statements does not reflect the
nature of learning ?

(A)
()
©
D)

Learning is purposive.
Learning is universal.
Learning is adjustment.

Learning is memorisation
of facts. :
(Continued)
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20. QIS FOIgAIEQ  §gOIeR
2I9QEee 9AQee QIR AP
Qageng ?

A) geeIegl
B) 6daciegl
(C) SRUY

v (D) I8 ggel

21. 9g 99I1egl S 99 QTR ALY
QLT ALY ALY 6REE ?

(A) 350 @@
(B) 320Q@%

(C) 310 @@
(/(D) 280 @@

22. 9@ @F 9aq 641eRIaA AAQE!
aqag @'€ geIgrg ?

(A) 6daqlegl
¢ (B) QIS QI IR 686411
©) 6@6aIRIegl .

D) sa_em@g{

OTET/P-I
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20. According to Palmer, behaviour

21.

22,

pattern of a child changes with

(A) Adulthood
(B) Infancy
(C) Climate

(D) Maturity

What is the average time period

of pre-natal stage ?
(A) 350 days
(B) 320 days
(C) 310 days

(D) 280 days

Name of the period lasts from

age of two to puberty is —
(A) Infaﬁcy

(B) Childhood

(C) Adolescence

(D) Adult

(Continued)
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23. AIRQIG  QFQ

6QQ QI
QIQAR IQNG YR 6QIRAN ?
A) cdaQiegl

- (B) 214 QIQYILE

(C) AL QUMY

(D) 6R6HNALG!

24. Q6QIQ 699G QF B IREQ 4R

25.

26.

QDY RAR AUCH ?

(A) QIQINER Rl ARER4
B) Q&AQI

(C) 26T QAR

D) 6F3R QAR

F6gIQ 69R0 AR YR Fad
q6e ? -

(A) 9geq ale

(B) QI9IQ 299

(©) QRIgAIRa Fad

(D) G@RCIR Faf

20RQE FGIGAIER 679 6RAT
gIQ-6@648IQUgIE elIEE
aqIaQ 99 638QY 962 ?

(A) Q0% AIeEq  AQEARS
2Rl

AINNTR MY
QAIFAAIANRG 6SRE QUK

AIFITR 2IFAE!

®)
©)
D)

OTET/P-1

23.

24.

25.

26.

-(C)
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In which stage of human
development physical

development becomes slower ?

(A) Infancy

(B) Pre-childhood
(C) Later childhood
(D) Adolescence

Which of the following is an
external factor of growth and
development ?

(A) Environment in the womb
of a mother.

Intelligence

Emotional factor

Biological factor

B)
D)
Which of the following is not a
principle of development ?

A)
B)

©
D)

Head to feet
Near to distant
Principle of predictability

Principle of discontinuity

According to Hurlock' which of

the following is mnot a

characteristic of social

development during pre-

adolescence ?

(A) Elders’ recommended
behaviour

» (B) Social values

(C) Distribute ' toys among
peers

(D) Social behaviour -

(Continued)
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27. 6QIRQ QA QaAA ALYAQ R4
QeI ?

s () Q6ARRQR QYD
B®) gI| @Iy adyig
©) g% aQIdiad adyie
(D) <QeNae QYA agyie

28. 6QQ0 QIAYAINA FAa aARE
2959 7 ‘
(A) IBRISR AKG
v B) geg aed
(C) 2K A8
(D) e4el 986

29. AdgQ Q6 6@6e €4dIgl
6gleqleRIe] | Q98 6QYI
a@ed ?

(A) 2064l
(B) 22 edIgl
¢ (C) 23 64lel
(D) 24 e4dlgl

30. 2§ AQAIT AISER 6QHIUIRYR
6Q18R QI QBYIF AAAQ 6Q6E ?

(A) 80Q 100 Q&vIa
v B) 90Q 110 @avIe
(C) 100 Q 120 Q&YIT

(D) 70Q 100 QYIS
OTET/P-1

|
!

e T — — —— ———) —————h " i " sirs
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217.

28.

29.

30.
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What is the first stage of

cognitive development ?

(A) Sensory motor stage

(B) Pre-operational stage

(C) Concrete operational stage

(D) Formal operational stage

Which one comes under activity-

based approach ?

(A) Discussion Method
(B) Project Method

(C) Practice Method
(D) Narration Method

In human 2zygote how many

pairs of chromosomes are found ?
(A) 20 pairs
(B) 22 pairs
(C) 23 pairs
(D) 24 pairs

What is the normal intelligence

range that most people possess ?
(A) 80to100IQ

(B) 90 to 110 IQ

(C) 100to 1201IQ.

(D) 70 to 100 1Q |
| ’ (Continued)
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3. O OUCQ JMB 950 97 38 GESWR G2 935289 I8
S0 €ed 902d8 oz soipel 32 geER geog sig |
ERVVIED AR 7 > (4) SEPIZSTFTE AT
) 9@ ®) =B B) IR BT G U2
) z° 5 D) 95 (C) A= eceasa AR Iz
32. EDINR UNO 0TS T21T | D) esaiE g8 «iRzI &g
(4) a2 (B) @z i 39, 6997 ‘gSY 620 g5aR ge? ?
(C) 9o . (D) 4%~ : (4) s1=2a <(B) Sareg
33. 6297 Bcasy 0o ged 7 i V' = ¥ e
v(A) Q09 (B) o2 ’},40. agf Az 28 @9F <9 |
(C) eaq D) eag 2 oisio cagISe 9°F seL
« geia ageia 7
‘34. c@w 97 ‘A’ 9e49 691950 902 7 A) Zicade ®) Bsdaiae
o o i L&) Sdise (D) g8°9e
g © a2 (D) a2 » R o _
R 4 41. Beyiea ai@el o 39 6o
y 86, 96019 AuQ e GRUGESe geia QIAIRIe 219 edad ?
ge127191 902 6219912 7 (A) §o4& 6aoe
(A) 212e #2194 B) @0% 6 aee
(C) 4@e .. (D) 94 (C) A¢e 6 a0
36. ‘G20 AT &9’ NP « (D) SRaGeR |
Q@a 2d @6 ? 42. 6996 TS AORA ALLQE ?
(A) @eg AR } (A) 6997 AI0IYLRR F8AYEY
(B) <al aage ) _ l QAR |
(C) Q1Y magfa @0% A , (B) QoY ¢ge Qo Q@e
o (D) G0I2 @f o2 | ARIQIIRR QAR
| _ ) _ | (C) Q10499eQ IR
37. ‘00’ @ea F0Q10Id 6ARA 9RFQ | o S e i
o1 | | c2Ql
* (A) aqe B) 999 } » (D) QIoY Qge QTC e gge
©) 29@ D) <6y | I -so
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\ o Al
43. glafie gasa fIQgaIEl JFR i 47. Qg@IS! AAQY Q@ QASIAIR 6@4
6QQG RAIFEL ? | QQ6Ra geda gee ?
v (A) 69139019 Q18 QRIS ! s (A) GRIQ a9 QUANIQ A6AS|

(B) §9€, Qa!, 909 B @AM (B) GauEia Q10iqas 9ge
3 AKQYE QAR (C) YERFNC! RA6Q YA

(C) @IS 248 G QW gaIa 999 (D) LR 2AKAE AAEQ YIAR
il L 48. 6QITN 99, GQ QI AR LA

D) AIeQIS g8 I IS ! QQIeqd €aa 0K 69808 Q69
QAR g%, 9@ S QA SNQ FANY.

qeIgIRgel 99 699 g9RIa 94 ?

44. G918 6UR AARRFIA ARIAIETQ i
g (A) QU1RAE RS |

6RQ QNGIA ANQE aarg ?

N . (B) q%l@ ﬂfn‘@
( ) NIQQI%GQ!&JQW{G’I (C) qq.g AR lFLQQ
. (B) QIQLI@ RS (D) QAMIARN

(C) QIS Q@S

D) QUS| NI FAIQ 2SI 49. 624G AAYINGA ACREM 6L

?
@) dqdines @€ 918asd g9

45. 6996 QQIgE FARRER QI QS|
Qeg ? (B) dR181 QIRSQ 6QUANSI G
A) ge aea 2908a gAY FRIAE QR
(B) QaRde ! e (C) QUSQ ARIY G} [AQIQR
. (C) g6 Q0% ?m:ra@e@m
(D) 2ATUFQ LR (D) SAEAIER @6 JYem GI2l
QA QS

46. GRMIARIER 6Q1ET F0Q U AW 50. 6Q9T QaF VLR AR AR

ALRGQIa 9ORI 6QQIQ 6267 694 Qeg 2

G’Q.@Ellﬂl‘ﬂ ? | (A) 99 99 FAJUEA QATE UL
A) g6 (“ ") Qg<l

(B) e (—) (B) 2VAYPQ FYR 27 6AYS!
©) ea(,) (C) UG QTQ AT 6agSl

~

» D) @81 (()) ¢ (D) [QAUA TLQ NLLIQ RS
OTET/P-1 12 (Continued)
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Feadl : 9o uQegath AR @° 51 Q
@°. 55 Adis g99Fea aaq Qg |
AT ANGITQ [SIL LS 61

QEeQ  QAYHE 6ARE | QI9d

QBAGIQIQT, A°QIAA 6 QAT 65

AP ALE VAIGG A[VIFIQAIAIER 2A6aQ

AAA6Q 21T T Q8T | 9 QIR

AQ0IQ 641 2IRIIR 6LAT ALREIRG!

Qe QANQA AV TIRIAG gaeee

QA AITI WASIA F1RUIAUQ IR AG

9e° QI APYER ARG AFY F

AT | 9L A F6R QY QAT 69

QG QAR QA  2eAd AXHAUG

2QEAIRR RQEYR AURCTOR, 2LCFER 6

AIFFR 6IFIAINT QAAYIR 62N QAR

2138 | 694 RIG19 IRGI AVRC A6

gede @ 62IR QQ° AIYER ARG

ARAYYQ AUTEQ YR 629 QPN | A]Y

CRAFIRE 9F UAGEH URR 9A] 6T,

A QoINS Iay 9G]l fULR a1 |

219002 NE SIQRUQI ARG A

QIee Qg 62¢ AT6 QS BWIQ

QARSI 9Q° A°g4 69K1NQE! 64 6T

QigIey Qe 9@l | AINe FIGQ gee

gag @ Q18 2°g4 ¢eR @ caad |

g 604 3R AN Y@ Q'Y 629 ALC

aQu QYea 9@ Fee 699 629l

gleaye | 9aIgial  gaIdfe @Al

QIR0 QG dEe TISAC AIYER

FeRel F26a QUAAIFY AV FAULDIRQ

aixQ |
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51. Q@ERGIQM, Q°QIARILT G
ArgeIde aaIew 64lg @6
Q98 7 |

(A) 6Q46Q AAURRG| VITE |

(B) a9 9106Q 2/6 6208 |

(C) QI QET 63g6x AIGIR
Q8 6298 | |

6Q4Q IRIF QUIYIY 6298 |

(D)

52. QUGG FIIRUIAR ARAG @& ?
(A) QI8 8 681Q1 goql

(B) 249Q /g9
(C) QAR F19R 8 AP 539
. (D) QLRIIRG QA AAgUQ]I
2RI

53. QAR FNVIA YRS LI ATER
gege ?
o (A) AIrYRR IARCIQ A8
(B) 2Rl
(C) QAIR IR
(D) UG QAU
54. QUL KR AT @4
UFITRCR A°YS 6291 GG ?
@A) {919 aqiqel
¢ (B) QoRIae Ay
(C) °qq] 6991904
(D) Q1918 UK
(Continued)


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

www.prepp.in

il el Bl
.

55. FIRQ QIPQ 99%Qaq 699 T
A°Qgl R XA 6@ ? .

8 (A) QN QARG 9 Qg4
6RQ1RAE MG

29I @18
QAN F18
QUREEI 18

(B)
(€)
D)

F6ad : 7 99 Q01T 9% /°. 56 Q
@°. 60 942 999Eex @aQ g |

QR2IN 6RT A AR
IR @ AT 197 G |
qg d°2 ¢6% @ 964 21219,
g6 Q1M 9N N8I |
6ARgEM QIS 641R QRGER,
QUGYe TR ¢ UG AQER |
og, d°e, QUIg 6262 UR I,
GIg QIR 72 gRIF 6197 |
caleR FRa BIe A6s Qal,
@ad @QI6Q RIF QIS T |
@Igisalg Al @F e19ad,
FIeQ QA J69 QIR Adl |
QI QISI QORI 6Q Tes AN,
QIE 629 2I6e 9F6aIes /¢ ?
Qe 6RICR GI1] 719 F&,
Q% AAIFER AT 294N |
60 AR AQES AR AAAIR,

QLa @ 6Qg g AAIR 7
OTET/P-1
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56. cQadlce 6Alaed «1eeq 9
Q98 QIE 7
A) QFRAIQ UG
p (B) Q@R4IR1 S
(C) Q@Y 4Q
(D) 48e 43

57. 9%, @@ @ g OF a8
gigig Ada @ad eIRaIea ?
(A) QI2QFIA
(B) Q0% 9Qga gIQl
+ (C) 6Qlaa gIQl
(D) Q&gIal

58. BIQQ @RA1 @Y ?
(A) 4l
(C) QIR

B) Adgn
« (D) @

59. QTIFIA Y AMRRF FARRXR
Q96Q QAU AQR ?
. (A) Qal (B) RIS
C) 9& D) eae

60. 6RAAIEH g ILG AAIR ?

(A) SRR B M

.(B) A9 AAAIR AU Qi
6QGRYR MY
Q8 STREQ 6ALAIER QIQ
QQ8esd
AgAl 4

©)

(D)

(Continued)
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61. The man bumped into the pretty
young lady not _
accident, but purpose.
The prepositions to be used in
the above sentence respectively
are :

« (A) by, with
(B) on, by
(C) by, on
(D) in, on

62. Which of the following is
grammatically acceptable ?

(A) The commandos entered
the enemy territory after
midnight stealthily.

The commandos entered
the enemy territory
stealthily after mid-night.

(C) The commandos entered
stealthily the enemy
territory after midnight.

(D) The commandos entered
after midnight stealthily
the enemy territory.

63. Which of the following 1is
suitable for conducting
Formative Assessment in

scholastic domain ?
AA) Multiple Choice Questions
(B) Oral Questions
(C) Conversation Skills
(D) Projects

64. What type of evaluation
identifies learning deficiencies of
the learners ?

(A)_ Summative
u/(‘B)/ Diagnostic
(C) Continuous
(D) Placement

OTET/P-I -

65. Listening
knownas .
(A) Primitive skills

(B) Modern skills

0 Primary skills
(D) Advanced skills

66. Apart from the four basic
70 language skills what are the
other skills of language ? :
(A) Learning and memorizing
| Creativity and imagination
(C) Grammar and principles
(D) Thinking and reasoning

67. We New Delhi by this-
time tomorrow. (Fill in the blank)
(A) - will reach
(B) will be reaching
(C) - will have reached
would have reached

68. The post-modifier in the noun
phrase of the following sentence -
is :

“The man next door is a very
fine gentleman”.

and speaking are

(A) next door
(B) The
(C) very
L\;@) fine |
69. In the system of language
teaching and learning the

system of constructing words is
called . '
(A) Semantics

(B) - Morphology

(,/GC( Syntax

|

|

|

i (D) Phonetics _ _

| 70. In the context of English,
!

|

I

|

l

v

speak English
(A) intelligibly
\.y(:B))conﬁde ntly

(C) courageously
(D) with an English accent

31 (Continued)

‘Speaking Skill’ is the ability to .
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Read the following passage and
answer the questions : (Q. 71 to 75)

Over the years, excavations of
Pompeii and Herculaneum have
revealed a great deal about the
behaviour of the volcano, Vesuvius,
eruption of which wreaked havoc on
these cities in 79 A.D. By analysing
data, scientists have concluded that
the eruption changed large portions
of the area’s geography. It turned the
Samo River from its course and
raised the level of the beach along the
Bay of Naples. Meteorologists
studying these events have also
concluded that Vesuvius caused a
huge tidal wave that affected the
world’s climate. In addition to these,
archaeologists have studied the
skeletons of the victims and have
drawn conclusions about the diet and
life-styles of the residents.

71. The impact of the volcanic
eruption was :
(A) local
(B) global
(C),- regional
¢« (F) both local and global

72. Which of the following
statements is not related to the
passage :

¢ (A) The volcanic eruption elevate

a sea beach.

B) It completely destroyed
Pompeii and Herculaneum

(C) It changed the course of a
river.

(D) It affected the
climate.

OTET/P-I

global

|
I
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32

73. Pompeii a

Guide

nd Herculaneum are
__________cit.ies. .

¢ (A) Greek

(B) French

(C) Italian

(D) Spanish

74. The expression, “wreaked
havoc’, as used 1n the passage
means:_____ -

(A) caused changes
~ (B) caused great destruction
(C) caused untold misery
(D) caused a destructive tidal
wave

75. Which of the following was not a
direct consequence of the
voleanic eruption ?

e (A) It caused the death of the
residents.
(B) It changed the course of
River Samo.
(C) It had impact on the world's
climate.
(D) It raised the level of the
sea-beach along the Bay of
Naples.
76. Which one of the following

sentences 18 correctly
punctuated ?
(A) To be frank; we don’t care
for our nation, do we !
(B) To be frank, we don’t care
for our nation, do we ?
(C) To be frank, we don't care
for our nation ! do we ?
+ (D) To be frank; we don’t care
for our nation; do we ?

(Continued)
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77. When ]

78.

79.

§

80.

81.

met Manav, he

for ten years.
(A) married
(B) was married
had been married
(D) would have been married

The youngman was wearing a
jacket.

(A) Dblack, leather, tight
(B) tight, leather, black
(C) black, tight, leather
/(D) tight, black, leather
According to U.S.
embassy  official,
U.S.A. wants peace in
Middle East.

(A) a, the, the

o (B) the, the, the
(C) an, the, the
(D) a, the, a

Which of the following is an
important stage in the writing
process ?
(A) Memorization
(B) Editing
(C) Calligraphy
(D) Comprehension

What is the fundamental
objective of teaching poetry ?
(A) to utilize new techniques of

teaching.
to entertain the students.

to give students a chance to
express their emotions and
enjoy them. _

‘to break the monotony of
routine bound life.

B)
(C)
o~

D)

OTET/P-I

| 82.

;0847

U

i
|
|
l}
;
|
:
|
|
l
|
}

33
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SET:| B

foIl'owing- _

Which  of  the

statements is not true :
‘//K; Development is a qualitative

- process.
(B) Growth is a biological
process.
(C) Education is a goal-oriented
- /process.
(D) Learning is a process of"
behavioural changes.
83. As humans grow older, the

of learning declines.
The most appropriate word to be
used in the blank is :

(A). power
(B) quantity
speed
(D) quality
We living 1n °~ Puri
' 25 years now.
The best pair to be used
respectively in the blanks is :
(A) are, for

(B) are, since

(C) have been, since

u,,l(’b) have been, for

85.
»

The common order of arrangement

of adverbs of Time, Place, Manner
1S : .
(A) Place, Manner, Time

LlB)/Manner, Time, Place
(C) Manner, Place, Time

(D) Time, Manner, Place
(Continued)
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Read the following passage
indicate the options that offer the

most appropriate answers to the
questions that follow (Q. 86 to 90) :

and

Many years ago, when the art of
stunting plants was quite unheard of
except in remote areas of India,

Buddhist monks in isolated
monasteries in Tibet stunted trees
like the oak, orange tree, peepal tree,
watching with excitement, the tree
still flowering and bearing fruit
regardless of this “deformity”.
Subsequently the art was learnt by
some Chinese monks who taught
“Bonsai” making, an art which
became most sought after in China.
While China and India claimed rights
to the art and its practice, Japan
soon followed, enamoured by its
beauty. Today Japan leads in Bonsai
making of plants and has derived
new methodologies to make the
plants look artistic. The bonsai
remains full grown for even more
than ten years although it needs
constant pruning, watering shaping

and conducive environment.

86. The earliest practitioners of the
art of stunting plants belonged

to
* (A) India and Tibet
(B) China and Japan
(C) India and China
(D) India, China and Japan

OTET/P-1

prepp

SET :[B]

87. In the passage the expressions,
«“unheard of” and “sought after”

- are
A)
(B)
©)

v (D)

88.
(A)
¢+ (B)

©)
D)

89. Which of

“Stunting

noun phrases
adjective phraées
adverb phrases
phrasal verbs

plants” means

making plants Srow

luxuriantly
arresting the
plants

cutting them down

pruning them down

growth of

following

the

statements do not follow from
the passage ?

The art of stunting plants

A)
is much in demand in
China.

(B) Bonsai plants remain full
grown for over a decade.

. (C) Buddhist monks borrowed
the art of stunting plants
from India.

(D) India and China claimed
credit for developing the art
of stunting plants.

90. In the passage, the word,

‘enamoured’ means :

U/(rA) amazed

(B) surprised

(C) amused

(D) fascinated

(Continued)
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!
|
91. @%° 9Q96Q CD @ Bp aaI9eq I 91. In the given figure, CD and BD
ZACB B ZABE g AATUEQR 2108 are bisectors of ZACB and ZABE
5 /B # EIG‘Q, respectively. If ZBDC = 28°,
g Z8DC = 28° g, ZABC + then the value of ZABC + ZACB
ZACB 6Q6@ 629 7 s
D D
A A
<3 = C | @ B o
A) 28° | N
B 56° ¢ (B) 56°
(C) 84° (C) 84°
(D) 124° ! ) 1249
92. @ 586Q O @A 6@Q | LSPQ = 92. In the given figure, O is the
45° 8 LTOP = 140° centre of the circle. If ZSPQ =
0° 6268, £TRQ 45° and ZTOP = 140° find
6Q60 629 ? ZTRQ.
S S
m m
PUQ ) PUQ )
!
(A) 25° i (A) 25°
350 | (B) 35°
il i o
(C) 45° y (C) 45
D) 70° | (D) 70°

—

Qe @a9l gIR/SPACE FOR ROUGH WORK

oT i
EIT!P 1 35 (Continued)
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- L]

93. 6AITN QU QLYe ARY G

94.

95.

QatQ 6@ QueQ Qald@y 60°
6Q6R, ALYEA QUG A°CHY| 6QES ?

A) 5 s(B) 6
©) 7 (D) 8

Qe gQE B @68 I 6EIE
RN 5 Y6 FAT | K681 YQY G

2 Q41 g1 692 QNG 6 TREA. 9B |-

g @64 9Q9Y QgIeg T 2,800
Baieeq Agal AIZIE, 6968 964
g1a Agal 9gI2Q 6Q66 G@él‘?
(A) % 1,000

By 71,200 )

(C) 1,600
(D) 1,800

QG y @ x%, z Q 1% 42 A7, z Q
y%, x Q 1% 42 QeI eQ° x Q 2%,

y @ 1% Q2 QaIe £9, 969

|
|

et TL T L

93.

94.

95.

prepp

SET : [ B]

The difference between the’
interior and exterior angles of a
polygon is 60°. How

ular ;
rmef»iny sides are there 1n that
polygon?
(A) b B) 6
© 7 D) &

Two men and a woman can do a

piece of work in 5 days. While a

man and 2 women can do it in

6 days. If a man is paid at the
rate of T 2,800 a week, what
should be the wages of a woman
in a week ?

(A) 1,000

B) T1,200

(C) ¥ 1,600

(D) ¥ 1,800

" If x% of v is equal to 1% of z, y%

of z is equal to 1% of x and z% of
x is equal to 1% of y, then what
will be the value of xy + yz + zx ?

|

xy +yz+zx Q A9 GG?GG‘GQ%:_? ] A) 1
A 1 } (B) 2

(B2 i © 3
©) 3 !
D) 0 | D) 0

Qe @69l gIR/SPACE FOR ROUGH WORK
OTET/P-1 36 (Continued)


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

www.prepp.in prepp

- ﬁ | - SET: B’

96. & EMSIBRY 40 — 50@ QARG 96. In the given graph, find the
cumulative frequency of the

QRIS FLA Qq | interval 40 — 50
mtrer e -

507 50+
401 10
301 o |
20t |
10 | 10
o 10 20 80 40 50 60 70 > | G50 20 30 20 50 60 70
* » (A) 40
B 70 ® 70
(C) 110 © 110
(D) 120 Dy 128
97. GOITN NEARQ 6a7qY, 9g G 97. The length, breadth & height of
Q90! Q2IQEee 18 6Qfl, 14 69 G a cuboid are 18 cm, 14 cm and

= B i 16 cm respectively. How many
16 €471 | 9gQ 4 64¢ 69uly QUY |

cubes having sides 4 cm each

QIg e@CEIS QAAUR  @CIdIR can be cut of this cuboid ?

’ a1 ? (A) 58
(A) 58 | (B) 63
63 (C) 42

(C) 42 | .
(D) 48 | D) 48

3¢ Qe gI9/SPACE FOR ROUGH WORK

OTET/P-I 37 (Continued)
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98. “geeye@ CAIRR QA RS 98. “Each prime number has two |
QERIAR AT | 9QIG gAIS AA factors.” What method should be |
aie giefie gesa 69w 986 followed to prove it at the
JAQNAR QAL ? primary level ?

'EJISIQIQ ' s A Inductive
B) a6lL (B) Deductive
(©) §€ﬂ§6| (C) Analysis '
(D) gesq‘gﬂ (D) SyntheSiS |
99. 64T Qdemga Qdgaa AN 99. If the sum of the diagonals of a
100 698 6€26m, 9TIQA €IQYTR square is 100 cm, what will be
6Q6Q 629 ? _ its area ? :
(A) 5000 99 6QF - (A) 5000 cm?
@) 12596 6a B) 125 cm?
(© 10042 @4 64% . (C) 100+/2 cm?
1250 @6 648 (D) 1250 cm?
100. 7, 26, 63, 124, 215, 342, *‘ 100. Which number will lie in place
2 2ge96a K gIaeQ @@ | of % in the given series ?
QIS QL ? o 7, 26, 63, 124, 215, 342, %
A) 541 | (A) 541 :
415 ; ®) 415
(©) 511 i (€) 511
o e | @ 521
Qe @&el gif/SPACE FOR ROUGH WORK
OTET/P-1 - 38 (Continued)
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101. 919 69819 Q6@ Fmiel 16 x 25 101. A class 3 student performs ™"
Q YITR I fda anl mu1t1phcat10n of 16 X 25 as
1GX25=8><2>(5>(5 ' fOHOWS -

= 8xbx2xb 16 x25=8x2%x5x%x5
= 40x 10 | = 8x5x2x5
= | = 40 x 10

999 699 FAAQ ANENT woicg
eLIQ KT ?

= 400
Which property of multiplication
has the student used in this"
(A) 4Qeedlion _ | questmn‘? -

B) 9f eqIg . (A) Associative

~ (B) Repeated addition
(C) QI QA

' (C) Inverse mulfiplicatiou -
MQ ¢ (D) Distributive -
102. 6299 G80Q 9@ Y9Q AT ? 102. Which of the followmg is a

nature of Mathematlcs ?

Q) ARFIAR (}\_)

Ornamental
L@;Q/Qqég@ % +(B) Logical
C) QFRQ ; (C)  Philosophical
D) *EeQ i (D) Difficulty

——

Qe @89l gIR/SPACE FOR ROUGH WORK
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103. 4@ 98@ 64616Q Ga@ @9 99 | 103, Following questions are po

Jée aeIdem, el :
() Qa6 A Fga 9a 2R
caIgge 12. A9

i) 9@ 9% ISP @ Y2
adaiql 58 6gfd. Y

(ii) 25Q YOG YOO 6RY REL
(iv) ‘9QQ19r Q A°BI 'Q ? «g@
QUeQIx g 9ee aug :

um/ @) 8 (i) g9 299 IR Ye°
(i) 6 (iv) P8¢ @aa e
99 | |
B) () 6 (i) 749 2@Q gee
NG” (i) 6 (iv) g9 QRANRe
gq |
© @), () 6 (i) *dg aea e
N@° (iv) 93 QR g4 |
(D) @), (i) 6 (v) Fdg qaq
P9 9Q° (i) g9 Aeanee
gq |

—

l
|

|
|
|
|
l

by the teacher in a Mathematics

clagsroom :

(i) Find two numbers whose
gum is 12. -

(i) Draw a triangle with
perimeter 58 cm.

(iii) Write down the factors of
25.

(iv) What is the definition of
‘Perimeter’ ?

Among the above questions :

(A) (@) & (ii) are open ended
and (iii) & (iv) are closed
ended questions.

B) @) & (ii) are closed ended
and (i) & (iv) are open
ended ‘questions. |

©) @), () & (ii) are closed
ended and (iv) is open

ended questions.
M) @), (i) & (iv) are closed
ended and (i) ig open

ended questions.

QT @Q9! GIR/SPACE FOR ROUGH WORK
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104. @ﬂﬁaae@ “YRID eoeq Qe
6QIM IS 6QQY6R ?
@A) RgeR
(B) Im. @QQ
o (0) 6TRRR QIq
D) RS

105. K661 SFVAQ1 A&iC ARINQ ANAER
2AGQQ AT ITIR 99T, SITR
QEQYY 6228 —

(A) IR ACRINGS KT
B) R AV AR

(C) dNdIIeg g Qg
Vé QIR ARRFR AR
106. BOg 699 2119/TVAT 1D
f QIO RMIR-2005 AGAIKT
gieifie Geuee 98e aIoigaa
2390 6L ?

A) 9CIE6Q SRR FRIRS /-
6AIEHRR AR

B Qigsy

(C) A9
(D) 2gQIe
107. QI2Ig gede Re SUIAGA eae
6QIR 1A ?
A) 9Re, QI

(C) oo all @ egie a6aN

|
l
|
!
I
|

prepp

SET :| B

104. Who stated Mathematics as the

105.

106.

107.

“Queen of Sciences” ?
(A) Aristotle
‘(B)" “L. Bers
"(C) Friedrich Gauss
(D) Aryabhatta

A teacher uses role play method
in Mathematics class. Her aim is

(A) entertaining children
(B) maintaining discipline
(C) keeping children busy .
(D) projecting ideas

Which of the following topics are
not part of the primary school
Mathematics curriculum as per
NCF 2005 ?

(A) Tessellgti(jh

(B) Symmetry

©) Patterns

(D) Ratio

Who is regarded as the father of
Demonstrative Geometry ?

(A) Euclid :

. (B) Samuel

(C) Cunning Ham

(D) Bertrand Russel

e o 96 gIR/SPACE FOR ROUGH WORK
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ST OF

|
g
' Q@ h 108. Conéépfé | l'ik'e'. more-less, far-

108. ANQ-QF, QQA-ARC, 9@-68IF, |
RAI-68IC QeYId 21a8l gee near, big-small, long-short etc.

are —

6RAR AUTIQ F6EVE R
- oz ke l (A) Simply language adjectives
(B) Qe 99 9 A°¢l A€l " (B) Important pre- number
ee concepts '
C) QPRI RAQIAIR 78 29q I o (C) Vague terms for
companson

- (D) Antonyms, not  necessary

(D) Qa1e 99 gee, a2l 9de - -
h% for learning Mathematics

YL AIN AIQER GEL

109. 399 AUQ 6RAC @dea 9@ 109. Which ~ of the following
ANRNEQ AF0Iq QALY 266 ? statements about nature of
i) <@l 3gg 9erale @AeIea i Mathematics are 'n?'lost
e 4 appropriate ? Lhi:
AIRIQYR6Q | . .
3 _ y.. (@) It helps the child to be
) <2 JgQ 9gal I8¢ calag .. creative. . ; :
ARIER AIZIAY @Q2lg | .,.-,(ii)‘ It~ helps in nurtunng the
(iii) 92 2QEAITIYR 07 QACQ c:iv child’s imagination. -
adyeede | (iii) It is based -on :deductive
(iv) 2l 9991 2FQAR 62192 | TORSONINg. .
0Q Gegt QI | (‘Y) Itis al_WaY.S convergent.
&) ©6GdR | Choose the correct option. -
= ) - A * R}
Le/&ﬁ (@) 6 (i) O - | :B; () & (iii) are true.
_ - i) & (ii) are true,
© @, Gi) 6 (i) OR o 8 (11) are true.
¥ B TS i), (ii) & (i
(D) (i) G (iii) oq | - b mir iy
K (D) (11) & (1i1) are true.

516’ QG}G‘I QIQISPACE FOR ROUGH WORK
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110. 504 Q 6REQIT YEMQD 21 ?
@ (A 12
(B) 22
24
D) 18

x, 7 5
111 3g + y75 = 654 626@, x + y Q
IR 6Q6Q 7

(A) 5

g

© 7
(D) 6

112. 66115 Q9IQ TS @€l 6 A9 !9l
g9 AU6Q AFERIE 9§ 629
€R6C QAL T6Q Q9D QA
AFERNEEQ QRER 7

4 (A)

B azyane | |

1
3 ~n
(C) 33 &de.

(D)

110.

111.

112,

SET:| B

How many factors 504 has ?
A) 12
B) 22
C) 24
D) 18

x g

If 35+ Y13 = 655‘ find the value

8
ofx+y.

4)
B)
(©)
)

4

D =1 © O

The minute and hour hands of a
clock make a right angle. After
how long will they form a right
angle again ?

(A) 30 min.

8
B) 3277 min.

©€) 33% min,
)

34 min.

OTET/P-1 43
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113. HaQ 6QQ QTR 363, 489 G
579 AR AINGAY 2T ?

(A) 562
_ 471
(C) 382
(D) 281

3 &= ©
114. 2% A°GYIe A°GlYl €QGIQ  6RR

QG @8 A°FI OIg AAIL ABIER

ag ?
2 . .3 3 oid
@ 1367 @563
1, .2 1, .1
©) 1362 (D) 263y

115. 6915 QIE2@ 4Q A°HIQ 2RI

B Q9@ FIFQ AFFLQ QI AR

QR RARIY AT AR 3960
QfioRl, 692 ASFAQ Al T

|
l
|

113.

114.

~115.

SET :| B

Which of the following number
is similar to the number 363,
489 and 579 ?

(A) 562

(B) 471

(C) 382

(D) 281

3 i
The number 275 is equidistant

from which two fractional

numbers on a number line ?

2, .3 3.4
@ 15&2; B &3

&

o=
:-PETH

©) 1%&-2% D) 2

In a five digit number, by

_interchanging the place of .

thousandth and tenth place
digit, the value of the number
decreases 3960. Find the
difference between these two

- Qa |
numbers.
A 7 { @) 7
P76 | B) 6
\ (D) 4 I D) 4
Qe @69 gIR/SPACE FOR ROUGH WORK
|
!
OTET/P-I 44 (Continued)
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116. 929 28 969, 6915 giIa6Q 10 &
S0%aI eeesq 2 § ggei GigaAy,
6 S 980! eogsq 2§ 622 dQgal
NS® 10 § 632 oo0sq 2 § Qi
A2R 1 6069 5 @ qig ReEQ

SET:|B

116. Many years ago. a village used

chickens instead of
10 rabbits. 2

6 chickens and 2 cows instead of

to get 2

L L L ——

goats instead of

il ! 10 goats. Then how many
€968IT cogzi Agge 2 rabbits will be found instead of
Q) 225 5 cows ?

_(By240 A) 225
©) 250 B) 20
D) 375 EI(;; 222

7.9213 & 914 4 915 1+ 016 & v - 5 = -
117. 272 + 272 + 215 + 916 Gag cod 117. 213 + 214 + 215 4 916 j5 3 multiple

s S 8 ot o e ¢ M kb . S 5 ST W S 9 o

QI e gQdee ase ? of which of the following
@) 7 ' number ?

S (B) 19 A) 7 (B) 19

© 17 t/(D)/ 15 i © 17 D) 15

- —

118. A @ B gE<R o1 83 < 730 ga, 118. A and B has ¥ 780 altogether.

~ 1 »
A Be ocIR; a9 G B @ eI

i—a@ FS A9l gca wees

gIgeq QAIe oSl QA | A
aIsieq gaecs €Q6e o<1 gl ?

W o S 8 o S e 2 s -

.1 1
After spending ) of A’s and Z‘h of

B’s money, both have left same
amount of money. How much
money did A have at first ?

A) T 450 ‘QB)/? 468 (d) T450 (B) T 468
(C) %490 (D) %500 (C) ¥490 (D) %500
Qe €@e! gIR/SPACE FOR ROUGH WORK
OTET/P-1 45 (Continued)


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

www.prepp.in prepp

ﬁ SET:[B

119. 651G OR QARG 6RECIT 6MIR 119. Some people were feeding a
_ _ ,
QQIRZER | GIR 6 FIR AYAIRTA herd of cows. What is the tOtE_l
number of cows, if the total
S ok @,Glﬂéj' i number of legs is .14 more
6Q919@R 6elIg' €l Q°GiHl 14 than twice the total numbers of
2yR | ARea g9l Slas Qe cows and the cow-keepers in the
' ] herd ?
660 ?
A) 5
A) 5 '
@ B) 7
@
(C) 8
(C) 8
(D) 10
D) 10 ‘
120. @49 QI 99g Y@ QAR LYFA =25 | 120. What is the number of diagonalé
Q°Yl 6R6Q ? of a convex polygon having t'en
sides ?
A) 20 |
&) A 20
2
o . e
(C) 30 ' i © 30
‘ }”/35 | D) 35
e Qe @ael gIR/SPACE FOR ROUGH WORK

OTET/P-1 46 (Continued)
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L ageed IrIe / ENVIRONMENTAL SCIENCE ]
121. 6Q9 QERIe gy QQIREAQ 121. In which agricultural crop

WA FIANQQ! doig aead

QR0 62T ? '
A) sQig Qql
(€) <en D) aig

122. 61l Q@G Gdie aQd QEeqlaq
@R 621859 QT 6 |
A) <2 —eAAM!
}B)/ 6RNQE — 2ig)
(C) 9&Ql —aIaIee
(D) QAAREAIE — ARAIQE
123. 629 GRIQQ HIRER AR 95
e ?
(A) 69edI
B) 69241
qQiQIx
D) QAR

124, 6@ Gqgad

aQge ?
wa{ﬂ @I
B) g&Em
(C) @gens
D) eaIFMI |
125. GeQlg 6QQ 2BREQ Q/E-Afa
6A19A1 QIQFIQI QEAIC 62IR FalN ?
A4) AR} LAY
=B eares eaqR
C) Q8 AAYR
D) 6Lal AR

ge AR

OTET/P.]

47_.,

i e S, A L A St ' S} e e A i s

122,

123.

124.

125.

production has there been a lot of
improvement after independence
in India ?

(A) Jute (B) Cotton

(C) Wheat (D) Sugarcane
Select the odd pair on the basis
of mines and the related
minerals : '

(A) Jharia — Coal

(B) Koderma — Mica

(C) Sukinda — Manganese
(D) Damanjodi — Bauxite

Which tylzue of food does contain
more energy ?

(A) Carbohydrates

(B) Fats

(C) Proteins

(D) Minerals S
Which mountain pass is located
in the Eastern Himalayas ?

(A) Nathula

(B) Brazil

(C) Lipulekh

(D) Zoji La

In which of the following areas
there is no rainfall by the South
West monsoon ? |

(A) The Malabar Coast

(B). The Coromondal Coast

(C) The Konkan Coast

(D) The Odisha Coast

(Continued)
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' 126. Which has more attraction

126. €QE0Q 6AIRE Q8 @d9 99
towards red blood corpuscles ?

IS8 AYR ?

A\ RIS (A) Oxygen
(B) QISR AERIQQAIAS (B) Carbon monoxide
(C) QRN (C) Nitrogen

(D) RISR CIRAKAING, (D) Carbon dioxide

127. 6RIAANER YR1E 6218 64115 127. What step is taken when ;1{ Bill
Q Q@ i r the Rajya
QM QAUFYLXNERQ 2 is not accepted by

. 9 UREAITS @GR Sabha having been passed by

@ 9964 aIarg ? the Lok Sabha ?
(A) The Bill is debated again in

(A) QT 6AIQARACQ  Yae
2ICRIFR! 29 | the Lok Sabha.
- - - (B) The Bill is sent to the
(B) Qiages @@y 9md President.
Ol | (C) The Bill is presented in the
G) eaea Fee aeesRea i}‘));l;fiamziismn of the
TRE ATYIPESIES (D) The opinlion of the
(D) 9EeF UIAIROR AG CAIGIAN Supreme Court is sought.
128. 6Q9C FgAY d919Q QLE, AB 128. Which is the largest internal
aer 7 organ of human body ?
@A) g (A) Stomach
(B) Q<@ (B) Kidney
(C) Q@G , (C) Heart
(D) Q499 I (D) Liver
M QIRIYSFG 6ald 7 } 129. Which is a bacterial disease ?
' (A) 229 | (A) Cholera
(B) 216g% | (B) Chicken pox
(C) 69ImG { (C) Polio
(D) Q43 I (D) Small pox
OTET/P-1 48 (Continued)
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180, 6R6 YD Giaime — qia@ 9190
ARG Q"QQ 7

(A SIS mme ating

(1) edlagan
/,(-Cﬂ'}ﬁ\l abae

1) QYUD AGas

131, B6QIQ  6RAT aaa @BHIcem
A90Q W90 uce 7

(A) 99 QIEG G609 @
(B) @Y Q09 Oaq @14
(C) QYo 0g 299 I8

| yba/ﬁ?ds' @AY Y6719, @

132. 629 QST QUMNG 2IERARRIGIR
@Y ARQ P00 FgRI ?

(A) 6911691a1 ALl
o B 60910 956l

(C) MR AYIGR
| (D) QUG A6

133. 6@l61d  Q@gQ Q696 GRS
)O 6RIQEIEM dRIQ TR 98 6@6Q
Q6 622 7

A) 2

o
(C) 8
(D) 16

OTET/P-I
S unan

49

ST | 13

180, Which instibution is nesocintod
with the loenl Self-Covernment
ol rural nron 7
(A) Noltifiod Aren Council
(1’)  Municipnl Corporation
(C) Zilln Parishnd
(D)  Logislative Council

131, Which of the following is tho
oxtonsion of Lhe North
tomporalo zono ?

(A) From Tropic of Capricorn
to Antarctic circle,

(3) From Equntor to Tropic of
Capricorn.

(C) From Equntor to T'ropic of
Cancer.

(D) I'rom Tropic of Cancer (o
Arctic Circle.

132, Which incident is not associated

with the Gandhian Movement ?
(A) Chouri Choura Incident
(B) Bhendibazar Riot

(C) Champaran Satyagraha

(D) Dharsana Incident

133. How many times will be the
kinetic energy of a body increase
whose momentum became two
times ?

A) 2
B) 4
) 8

(D) 16
(Continued)
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134. 606 Q@@ geeq qdy afaeca
Q@0 62IR 996Q 2g gAT ?
(A) 49 6 YEART
: /(B)/ a6 6 Y6aad
(C) Qa6 6 ax

(D) Q6L

9@ delsia Seals 6 eIRIa
AR AR 26% |

9e Qe ovde aAg G
aQqIg QAL 26T |
@ 9ga 9ga 6 6ee AR
26e |
(A) () 6 (i) gM 9" (i) OR
(B) (i) B (i) @M 99 () OR
L AET () 8 (i) QRIS (i) o]
D) @), (i) B (iii) R

135. (1)
(i1)

(iid)

136. 69T @FSIQR N Q99
. q6% ?
a) asrd
(B) 499 0Ig 9IeQ Q&
g QIaq
(D) Q99 99eQq ] Qw3

137. g@ FRIQ 6aQ% QA9Q @R
QAULIA NG| 2ES ?

(A) 1%o0
33%o0
., (C) 35%o .
‘ (D) 37%o
OTE‘T/ P-I

Ty S S S

Jo0

134. In which two
rises in the West and sets 1

135.

136.

137.

prepp

SET : [ B

planets the Sun
n the

East ?

(A)
(B)

©
D)

@

(1)
(ii1)
A)
B)
©

D)

Which 1is

Venus and Uranus

Saturn and Uranus
Jupiter and Saturn
Mercury and Venus

The melting point and the
point of liquefaction of a
substance are the same.
The molecule and the atom
of a rare gas are the same.
The mass and weight of a
substance are the same.

(i) & (iii) are wrong and (11)
is correct.

(ii) & (iii) are wrong and (1)
is correct.

(i) & (ii) are wrong and (iii)
is correct. -

(), (i) & (iii) are wrong.

not a factor of

controlling climate ?

A
B)
©
D)

Latitude

Distance from the sea
Longitude

Altitude

Which of the following is the
average salinity of the ocean ?

(A)
(B)
©
(D)

31%o0
33%o
35%o
37%o0
(Continued)
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138. €3 OFaKe 45 d.qu SgR 288 138. An athlete of mass 45 kg can
PSE TR ATeRSR 1.58. /96!
953 ¢ 9IE | 6o cooie
P89 99 QIR ATseTIsa 6960
REC! OGS ceq arfco 9

jump to a maximum height of
1.5 m in the playground. To
what maximum height the same
athlete could jump on the
surface of the moon ?

U —

1) 0258

ey

QB} 1_-5 ﬁ_ (.A) 0_25 m
V.Ei/e a. : B) 15m
M) 1158. , ©) 9m
: D) 115m
138. () <@ <@ goamiela dgae i 139. (i) Air is a homogeneous
ase | ' ' iy mixture.
(ii) - 24 carat gold is an alloy of

@) 24 <8I59€ gRI, gel 6 oAl
e GguIg aise |

' gold and copper.
* (iii)) Amalgam is an alloy. -

[P e

Gii) TR < GgAIQ AEE | (&) (@) is correct and (ii) & (iii)
A I ~ are wrong. '
) ‘@) 07 9" (1) S W @ () is corrser and @ & G
B) (i) 0K <@ (i) G (iil) R are wrong. _
o % (C) (@) and (ii1) are correct and
¢ () 6 () OR N s (11) is wrong.
(D) (). (ii) B (iii) R | D) (i), (ii) and (iii) are wrong.

140. Out of the following, which do‘es _

140. BeQIg 6€9aC «Beca afa
: ' not indicate a part of asexual

ereq 9eI9g 99IR /IF ?

reproduction in plants ?

@) SR (A) Fission
B) <Ree (B) Budding |
(C) 6Qgeees * (C) Sporulation -

(D) Fertilization

B T W—— TS ——— 1 —" " s - e 51 g2 1

Mﬂlaﬁ
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141. “QIPEQ R1G QIF 28" — LY
@64 J9R QU QIR QAT ¢S
Qg @8 999 96 QId] QLI
aceq MIGYQ SRREIG 66N
QuRsR | 92 Fsesq 699

@fieIg 9eIag ?
) dARIR? (B) <IN
(C) QLIRe (D) {9

142, 6216 9@ 6WVCAIRS QN6
6ETR @69y IRNAEG 6AIGRI QF
AdI6QRQ '€ QRIAIN ?

(A) 99 adIeQRE

2 (By” @036 9di69ae
(C) 9oy adyeeud
(D) C6QIY ALIEVE

143. Q6919 ARIQ 69AG IBIE JAQ
FSIARQY 216G 7
(A) 6918 IR
(B) F6RIFAIAR SRI4
(C) 216Q8a QI8
Q g a9g

144. 6Q9RY QRIe VAU ATRG
A 99 6QR 6dIFR QU6

dQR 699N AR ?
/m/:@eroq QISR
(B) QI0y 6Q19R!
(C) \9% 6QISA

(D) 6961 AR 6QIFA
OTET/P-1

.i
|
:'
|
,‘
l
|
|
!
|
|
|
.|
|
|
|
|
|
|
|
|
|
|
|
!
!
.|
|
|
|
|
|
|
|
|
|
|
I

52

142.

143.

144.

Guide

SET:

141. “Water vapour 1s pres.ent in the
Ajr” This was explained by a
teacher keeping pieces of ice in
the glass and exhibiting water
droplets on the outer surface of
it after a while. Which role of

the teacher does 1t signify ?

(A) Manager (B) Care-taker

(C) Facilitator (D) Guide

To visit a geographical location
for objective based observation
way is called

in a planned
(A) Free observation

(B) Controlled observation
(C) Direct observation

(D) Indirect observation

Which of the following is the
main  objective of science
teaching ?

(A) Cognitive development

(B) Psychomotor development
(C) Affective development

(D) All of the above

Which strategy should a teacher
emphasize in day to day
teaching science effectively ?

AA)
(B) Lesson planning
(C) Unit planning

(D)

Co-curricular planning

Class-room management

planning
(Continued)
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146, GR9S DG Faigace oFcas

PIIARG ME 65 9

(A)  Da6asa D9 Yo acoeq

Gl

B) A6 A9000 9919, a1del

1

(©) AmieIy Gae Mo 6dma
6P Gyl

./(J 99 9"aeq @59 eYanig

146. 629 A9 a9, Q7 9G6ea mie
aQage ?

(A) QRI}, ABRIA, AT G GEaIR

B) {RR, YR,
QARG IRIF

Qée @

( QRIR, QEAIR, ABIA G
QAUING R

D) YR, TR, AUIRT
RIS G AV
147, “9Q694 2298”7 QA&

Qege €2QYQ 0w g g4
A 6RAYEQ QAR @ AQQ
6QQIQ QAR @¢| 2 ?

. /aér( 6QIITI QIRUEQ AAQ 6QR!
(B) QIR Q& QAR
€) Qg-3xg e 94
D) ALS-5¢I9 949
OTET/P.1. - -
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SET : [ B]

145. Which is not the aim of studying

environmental studies at the

elementary education stage ?

(A) To be aware of the
importance of
environment.

(B) To know the means of

Balancing environment.

(C) To learn the skill of value
oriented life style.

(D) Intensive use of natural

resources.
146. Which subject matters are
under the scope of

Environmental Science ?

(A) Science, History, Language
and Geography -

(B) Science, Geography,
Mathematics and Political
Science

(C) Science, Geography,
History and Political
Science

(D) Geography, History,
Political Science and
Language

147. Out of the different types of test
items in “Environmental
Studies” which type of question

possess less possibility of guess
in answering ?

(A) To answer in a single
sentence

(B) To fill in the blanks

(C) Multiple choice question

(D) Analogy question

(Continued)

Your Personal Exams Gulde


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

www.prepp.in

148. @EQIQ

IR o= 6
gouIgRe 99 agal Qixal,
QIQ¢l 9RIgIal F1E AR

prepp

T
i |

SET:| B

148. Thought provoking questions

are asked while teaching

History, because they help the

(A) 9299 T8F 9FaIl IR pupils :
azaId (A) To  develop divergent
(B) aGgel Qcqigey <6434 thinking ability.
QG9I6Q ARIAR 62IRAIN (B) To analyse the incidents
(C) Q[6qadaIge <aAY aqeal that have occurred.
Qaley Wedla  QUeqd (C) To predict the occurrence
QAREA Q§I@_ﬂ|§1‘ RAQI6Q of the next probable event
AR 62IRaNg | from its analytical account.
W@GGG}I@ aqg QAGIQ IQIA (D) To develop all of the above
acad possibilities.

149. “Time-line” is used in History
teaching, because pupils can |
" (A) establish relationship
| _ between two or more
historical events taking
place simultaneously.
(B) remember historical events
easily.

149. QGeId FNIQIFER  “AAGEQS”
SYQ2Ia QaIAI Q8 FAIIAIER

(A) 98 AA96q 9gY 9a <
eeoRIQ IR ATEIFUER
QaSgIae *AAIG6e |

(B) doed@e acel geg A6

l
~ |
Q168 QYAIRES | |
. - : (C) express the historical
(C) Foa1aR Hﬁ]g‘fl[ LR ! events chronologically.
@egQAIER @edIqee | i (D) All of the above activities
/ Y aqg QI @QAAIAER | | - can do. |
150. 96694 A°0@e 94 21990 76919 150. Out of the following which
Y -~ edcq AAea 7 processes are possible for direct
fg eeu IR experience relating to
(A) Q63AE environment ?
(B) 68Q 95gaé (A) Survey
g da8 | (B) Field visit
(C) 49«9 | (C) Project
G/(I{ QUEUG 491G i (D) All of the above
OTET/P-1 54 (Continued)
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